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This test has two parts. Part | as well
as part Il consist of 90 questions in
each.

Each question carries one mark.

Since the time allotted to the two parts
of this question-paper is very limited,
you should make the best use of it by
not spending too much time on any
question.

Extra page has been provided for
rough work at the end of question
paper.

Do not mark more than one answer of
any question on OMR sheet
otherwise answer will be cancelled.

Avoid cutting/over writing/use of fluid
etc. on OMR Sheet.

Attempt each question, there is no
negative marking in this test.
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Questions: 1 to 90

PART-l (¥TI-1)
MENTAL ABILITY TEST
difgsd arrgdr gieor

Directions: (Q.1to7)

Each letter of the alphabet from Z to A
bas been given a value from 1 to 26
serially. Solve the questions on the
basis of value of words.

Q.1 SWEET = 63, SALT = 56, then
SOUR=

(1) 62
2) 70
3) 35
4) 56

Q.2 Which word has the maximum
value at most?

(1) MOUTH
(2) THANK
(3) TANKER
(4) TABLE
Q.3 Which words have the equalent
Value?
(1) FEAR ACID
(2) BASE THANK
(3) WATER SEAT
(4) SOUR SALT

Ada (m.197)

Zd AP DI IUIHTAT b UAD &R Bl 911
HH: 1 A 26 & a1 A1 B 1 I8 B _H
& YR R fA=ferRad uvH g B -

91 SWEET = 63, SALT = 56, <l

SOUR=
(1) 62
2) 70
(3) 35
4) 56

9.2 b9 v P1 99 Haifds 27
1

(1) MOUTH
(2) THANK
(3) TANKER
(4) TABLE

U.3 P 9 < GHHE qH B g7

(1) FEAR ACID
(2) BASE THANK
(3) WATER SEAT
(4) SOUR SALT




Q.4

Q.5

Q.6

Q.7

Q.8

Q.9

Which equation is Correct?
(1) E+L=A

(2) V+L=G

(3) U+L=E

4) Y+L=1

(K-Q) (U-Y) (A-K-Q) =7

(1) 24

(2) 06

(3) 04

4) 00

Which one has the least value?
(1) ROOT

(2) STEM

(3) LEAF

(4) FRUIT

Select the Correct Statement?
(1) ROOT +Yis STEM.

(2) STEM - Dis LEAF.

(3) LEAF +Tis FRUIT

(4) FRUIT -Qis STEM

Which one of the following words
will Come at fourth place in the
Dictionary?

(1) Rare

(2) Rain

(3) Rapport

(4) Rabit

Which one of the following words
will come at second place in the
Dictionary?

(1) Acidity

(2) Adolescent

(3) Adult
(4) Alternative

9.4

9.5

9.6

9.7

9.8

9.9

PIF W B0 | B?
(1) E+L=A

2) V+L=G

(3) U+L=E

4) Y+L=I

(K-Q) (U-Y) (A-K-Q) = ?
(1) 24

(2) 06

(3) 04

(4) 00

gAaH A fdaer 27
(1) ROOT

(2) STEM

(3) LEAF

(4) FRUIT

HE BAF BT TIT BR?
(1) ROOT +Y is STEM.
(2) STEM -Dis LEAF.
(3) LEAF +Tis FRUIT
(4) FRUIT-Qis STEM

fA=fofaa 9 #9-91 v T aIen
¥ =AY WH R IJR—[IM?

(1) Rare

(2) Rain

(3) Rapport

(4) Rabit

A=foifRaa & ®9-41 v srs@Ie |
TR A R JR?

(1) Acidity

(2) Adolescent

(3) Adult

(4) Alternative




Directions : (Q. 10 to 20)

In these questions, a series is given with
one term missing. Choose the Correct
alternative from the given ones that will
Complete the series.

Q.10 100, 64, 36, 16 ?
(1 8
(2) 6
Q) 4
4) 2
Q.11 125, 5, 64, 4, 27, 3, 8, 2?
1) 2,1
2) 3,2
3) 4,3
4) 5,4
Q.12 23,19, 17,13, 11, ?
(1) 9
2) 7
3) 5
4) 18
Q.13 27, 64, 64, 81, 125, ? , 216
(1) 175
2) 169
(3) 100
@) 121
Q.14 10, 11, 11, 13, 12, 15, 13, ?
(1) 14
2) 15
3) 16
@) 17

fAader (u. 10 & 20)

U H U @ (3gshA) ) TS
forad te ug g« 21 Ry 1T faweni | @

I8 fAsed AT Sl o gpa B R PR |
9.10 100, 64, 36, 16 ?
(1 8
(2) 6
3) 4
@) 2
9.11 125, 5, 64, 4, 27, 3, 8, ??
(1 2,1
(2) 3,2
3) 4,3
(4) 65,4
9.12 23,19,17,13,11,?
(1 9
2 7
3) 5
(4) 18
9.13 27, 64, 64, 81, 125, ?, 216
(1) 175
(2) 169
(3) 100
@) 121
9.14 10, 11,11, 13, 12, 15, 13,?
(1) 14
(2) 15
(3) 16
4) 17




Q.15 122, 145, 170, 197, 226, ? 9.15 122, 145, 170, 197, 226, ?
(1) 265 (1) 265
(2) 260 (2) 260
(3) 257 (3) 257
(4) 240 (4) 240
Q.16 102, 83, 66, 51, 38, ? 9.16 102, 83, 66, 51, 38, ?
(1 27 (1) 27
(2) 30 (2) 30
(3) 32 (3) 32
(4) 36 (4) 36
Q.17 18, 23, 27, 30, 32, 33, ? 9.17 18, 23, 27, 30, 32, 33, ?
(1) 38 (1) 38
(2) 36 (2) 36
(3) 33 3) 33
(4) 32 4) 32
Q.18 B,E,I,N, T, ? 918 B,E,|,N, T, ?
(1) z 1) z
2) A 2) A
3) Y @) Y
4) G SR
Q.19 D-36,F-49, H-64, ? 9.19 D-36, F-49, H-64, ?
(1) 1-81 (1) [1-81
(2) H-81 (2) H-81
(3) J-81 ) J-81
(4) K-100 (4) K-100
Q.20 DZ, EY, FX, GW, ? 9.20 DZ, EY, FX, GW, ?
(1) HV (1) HV
(2) HU (2) HU
3) IT Q) IT
4 IR 4) R




Directions : (Q. 21 to 22)

Study the following figure and choose
the Correct answer?

Q.21 How many squares are there in
given figure?

(1) 25
(2) 32
(3) 55
@) 125

Q.22 How many triangles are there in
givenfigure ?

(1) 20
(2) 24
(3) 32
4) 40

Directions : (Q. 23 to 26)

A series of letters are given which follow
a certain Pattern. However some Letters
are missing from the series. You have to
find out the right set of Letters from
alternatives that can be inserted into the
blanks of the series.

Q.23 mmnn_nm_mm_ _nn
(1) mnnn
(2) mmmn
(3 nnnn

(4) nmnn

Ade (u. 21 9 22)

fr=ifea R &1 s1sgTa &1 @ 9
IR Bl T BRI?

¥.21 fau gy = 4 fem ot €7

(1) 25
2) 32
3) 55
4) 125
u.22 foyge R H fbam fByw 8?2
(1) 20
(2) 24
(3) 32
(4) 40

fAder (9. 23 & 26)

JeR D TP J@en & TS ¥, Wl TH
fAf¥ea ®a 4 21 | sEeR @ A g«
g1 &R P TH W&l 99 - [y U
fawedl & @ wifey, o7 Rea i 3t
gt a5t < E S |

9.23 mmnn_nm_mm__nn

(1) mnnn
(2) mmmn
(3 nnnn
(4) nmnn




Q24 mnanam__mn__n
(1) mnaam
(2) nmmaa
(8 naaam
(4) amnma
Q.25 abcm_cba_bcm_ _ba b
(1) aaaaa
(2) mcama
() mamca
4) mmma
Q.26 amm__na_mmm__nhnha__am___
(1) mmnam
(2) nanam
(3) nmnam
(4) aaamn

Directions : (Q. 27 to 36)

In each of the following figures,
numbers are written according to some
patterns and one number is missing,
shown by question mark. Find the
missing number that replaces the
Question mark.

Q.27

An
LY

Y24 mna nham__mn__n
(1)
(2) nmmaa
3)

4) amnma

mnaam

naaam

9.25 abcm_cba_bcm_ _ba_b

(1) aaaaa
(2) mcama
(8) mamca
(4) mmma

Y.26 amm__na__mmm__nhna__am__

(1) mmnam
(2) nanam
(3) nmnam
(4) aaamn

fAder (9. 27 ¥ 36)

e & T TP g # T e wa
IR FB HeEATt foredt 1 71 37 A
& g« g, o’ uea g & <ot
gl g 9= 9| BRI Wl g R @
WU IR SUGE & |

9.27
el
NEBZ

1
9
5
0




9.28

9.29

10
17

(4)

12

108

24

42

9.30

3)

3
5

(1)

()
3)
(4)

Q.29

(1)

()
3)
(4)

10
17

12

108

24

42

Q.30

(1)
(2)
3)
(4)



Q.31 6 ] 2 | s 9.31 6 1 2 | s

3|17 1|5 3|17 1|5
m 1 9] 4|2 M 1] 94 |2
2) 2 2) 2
) 3 ) 3
(4) 4 4) 4
Q32 1 ><8 27 125 64 ? 932 1 ><8 27 125 64 ?
1 2 3 5 4 9 1 2 3 5 4 9
(1) 512 (1) 512
(2) 729 (2) 729
(3) 343 (3) 343
(4) 81 (4) 81

G - aT
&7 (857

(1) 64 (1) 64

(2) 53 (2) 53

(3) 46 (3) 46

(4) 09 (4) 09
210 210

@6 202 @102 20@25 @6 202 @102 20@25
215 215

4

(2) . (2) 7

@ 9 (3) 9

@ 8 (4) 8

10



Q.35
3 11 29
1«'»5 13«'»19 23 «'»31
7 ? 37
(1)
(2)
)
(4)

A CB DE G
G J

F

12
14
15
17
Q.36

(1)

2)
)
(4)

Directions : (Q. 37 to 38)

In these questions, different positions of
adice are given. Answer the questions ?

& 6 & &

Q.37 Which number is opposite to 5 ?
(1 1
2) 3
(3) 2
4) 4

—

I

J
K
L

11

9.35
3 11 29
1+5 13+19 23+31
7 ? 37
1) 12
2) 14
3) 15
4) 17
9.36
A CB D E G
F G J
O
2 J
3) K
4) L

fAader (u. 37 1 38)

3 U A T UM @) fAfts Rufadt
g € 2| o=l @ @iy g g geEl @
IR AT |

& 6 & &

U.37 I 1 3, 3 - 5 P faudid 27

(1 1
(2) 3
@) 2
4) 4



Q.38. Which number is oppositeto 2 ?
(1 3
(2) 4
) 5
(4) 6
Directions : (Q. 39 to 40)

Three different positions of a dice are
given below:-

Q.39 Find the number of dots on the
face opposite to the face with one
dot.
(1)
(2)
(3)
(4) 5

Q.40 Find the number of dots on the

face opposite to the face with six
dots.

(1)
(2)
) 3
4) 2
If you are 15th in a row from either

side, how many persons are there
inthe row?

2
3
4

5
4

Q.41

15
30
29
31

(1)
(2)
)
(4)

12

U.38 B9 A1 3P, qPH-2 d fAusia B?
(1 3

(2) 4

3) 5

4) 6

fAder (u. 39 & 40)

= 9™ @t 9 - Ruafadt & S

gl

9.39 Bad R U6 fdg & faudia vae &
fagati @t wwm sma a7
(1) 2
(2) 3
@) 4
(4) 5
9.40 B W 6 fagel @ fawsia are
wAd B a3l 3t AE= A BRA?
(1) 5
(2 4
(3) 3
4) 2
u.41 af ve ufda 4 fht 5 AR 9 A=

IR 39l % 15 df g o gfad |
fhaq aafaa 2?2

(1) 15
2) 30
(3) 29
4) 31



Q.42

Q.43

Q.44

Q.45

There are some pillors on the road.
The length of the road in 1000
meters. While each pillor is
situated at a fixed distance of 50
meters. How many pillors are there
on the saidroad?

(1) 20
(2) 21
(3) 22
(4) Itis difficult to say.

Pointing to a boy, Rakhi said, "He
is the son of my mother's maternal
uncle”. How is the boy related to
Rakhi.

(1) Brother

(2) Uncle

(3) Cousin

(4) Maternal Uncle

Pointing to a boy, Rohit said, "He is
the son of my father's uncle". How
is the boy related to Rohit?

(1) Uncle

(2) Brother

(3) Neppew

(4) Cousin

Ink is related to ........ ?
(1) Book

(2) Pen

(3) Paper
(4) Hand Book

U.42 IS R FY @ ol E| TS DI

g 1000 Hiex gl wEfd 9D
fAf¥aa 50 #iex 3t @ w® tF T@=
M 2| IA1S TS e R fhaq @
R gUE?

(1) 20
(2) 21
(3) 22
(4) war BfA B

.43 I A U dISD Pl MR FIMRT B

gY &, 98 99 A & "M @
AP 21’ 99 oIS W AW Bl [T
T 87

(1) %
(2) =ren
(3) =T M
(4)

U.44 fTd A TP IS Bl AR SIMRT B

S 21”7 99 dIsd | Afd &1 w1
JqE 27

(1) =r=
(2) g

(3) HdISI
(4) AR 4TS

(1) g=o
(2)

(3) @IS
(4) Sr

13



Q.46

Q.47

Q.48

Q.49

Q.50

Radio is related to..... ?
(1)
(2)

Echo sound process

Visual Aids

(3) Audio Aids

(4) Audio-Visual Aids

In a Certain Code RANGER is

Written as REGNAR how is TABLE
written in that Code?

(1) ELBAT
(2) TALAB
(3) ELTAB
(4) BELTA

If DEAR is Written as FGCT, how
will READ be Written?

TFGC
TGFC
TGCF
FGCT

(1)
(2)
(3)
(4)
If 7" day of any month comes three
days later to Monday, then which
day will be on 20" day of that
month?

(1)
(2)
(3)
(4)
Which pair of numbers is
different from the rest.
(1 3,1

(2) 5,13

(3) 17,23

(4) 1,64

Tuesday
Wednesday
Thurasday
Friday

9.46

.47

9.48

9.49

9.50

IS BT A -

(1) wfaeafty ufsan

(2) T G

(3) &g AHUl

(4) HI—gI AHA

Ife f=fl wrsfae “mem §# RANGER
P REGNAR for&n iran @ df TABLE
1 1 fer@a’?

(1) ELBAT

(2) TALAB

(3) ELTAB

(4) BELTA

gfe fbft Grofae 99T § DEAR &1
FGCT ferar Siram & df READ &1 &1
forg?

(1) TFGC
(2) TGFC
(3) TGCF
(4) FGCT
Ife fb=dt w1 &1 7 Ig AHaR A
T4 o e It g @ 99 w1 &)
20 IRg B B9 |1 f&7 2 ?
(1) HITeAdR
(2) dEarR
(3) gEfIar
(4) YPAR
A= 4 9 o991 ST R 9

f=12?

(1) 3,11
(2) 5,13
(3) 17,23
@) 1,64

14



Q.51 PRANAY walks along arectangular
park having 5 km as lenght and 2
km as breadth. If he Completes the
round then how many km he
walked?

(1) 7Km
()
©)
(4)
Directions : (Q. 52 to 54)

12 Km
9 Km

14 Km

Which of the alternative will come in
place of question mark ?

Q.52 ABD : CDF :: MNP : ?
(1)
(2)
3)
(4)
Q.53 LNPQ : ACEF :: TVXY : ?
(1)
(2)
3)
(4)
Q.54 CDEF : fghi:: ? :kimn
(1)
(2)
)
(4)

LNO
OPR
KLM
VXY

MNPQ
OQRT
STVX
IKMN

hijk
FGHI
HIJK
NOPQ

U.51 3Jfe YOI TP JITPR UTh b IRI

IR QI FdpR ol g ot
g 5 fael. 3R dreTs 2 fa.
1 g8 fait R =er?

(1) 7 f&H.
(2) 12 .
(3) 9 fep.
(4) 14 foH.
fAader (9. 52 & 54)

fau gu el 4 4 9 @1 e ueA
I g & A R IMgIm?

9.52 ABD:CDF::MNP:?

(1) LNO
(2) OPR
(3) KLM
(4) VXY
9.53 LNPQ: ACEF :: TVXY : ?
(1)  MNPQ
(2) OQRT
(3) STVX
(4) IKMN
9.54 CDEF :fghi::? :kimn
(1) hijk
(2) FGHI
(3) HIK
(4) NOPQ

15



Directions: (Q. 55 to 59)

The questions are based on the
following statements.

(A) Seeta, Rajender and Surender are
Children of Mr and Mrs Dikshit.

(B) Renu, Raja and Sunil are Children
of Mr and Mrs Bhardwaj.

(C) Sunil and Seeta are married and
Ashok and Sanjay are their
Children

(D) Geeta and Rakesh are Children of
Mr and Mrs Vashistha.

(E) Geeta is married to Surendra and
has two Children Reetu and Raju.

Q.55 How is Rajender related to Raju?
(1) Brother
(2) Uncle
(3) Brother-in-Law
(4) Maternal Uncle
Q.56 How is Rajender related to Ashok?
(1) Father-in-law
(2) Uncle
(3) Brother-in-Law
(4) Maternal Uncle

Q.57 How is Rakesh
Surender?

related to

(1) Brother

(2) Uncle

(3) Brother-in-Law
(4) Maternal Uncle

fader (9. 55 | 59)

A yeq ffeafad aaael wR snarfRa &

(@1 e, o g Y- SWE @
et Hfra 3t v &

@) v, e G Gd— SEE 9 st
HRETS B! AT & |

@) gt g e &1 faare gan € qon
NP I g STt WA 2 |

@) N g wBe- sht T shh aftrs
B FAE 2|

() i @ g @ ) g€ 7 SR
S Aet 9 W5 A I B |

U.55 ol $I o] A a1 A4 87
(1) w8
(2) @
(3) it
(4) A

U.56 IToI=s I 3eNE A a1 Rean 87
(1) ¥R
(2) @
(3) it
(4) #mH

U.57 S P Y= A 1 Rean g7
(1) «rg
(2) =
(3) et
(4) =




Q.58 Renu is Sanjay's?
(1)
(2)
3)
(4)
Q.59 Whatis Sanjay's surname ?
(1)
(2)
)

(4)
Directions : (Q. 60 to 64)

In the following figure rectangle, Square,
Circle and Tringle represents the
regions of Coal, Iron, Gold and Silver
respectively. On the basis of this figure,
answer the following questions

/

Aunt
Sister
Sister-in-Law

Cousin

Bhardwaj
Vashistha
Dikshit

Sharma

/ 7

Q.60 Which area produces Iron and
Gold only

(1 2
(2)
3)
(4)

0o b~ W

U.58 U], ol B R TP
(1) gam
(2) §&T
(3) drel!
(4) = 98T
U.59 Hol &1 MA (SUH) F1 87
(1) 9RgTS
(2) aRrs
(3) dférd
(4) =i
Ade (9. 60 & 64)
=1 smgpfa W sy, @@, ga @ Ayw
HHI: B, IEl, AT 9 afdt B &3 Bl

ufafAfa & € 1 Mg & snuR w A=
el & SwR o1y

/

/7

U.60 P19 A aF § ddd gl AR AT
Saifed grar 87
1n 2
(2)
3)
(4)

3
4
8

17



Q.61 Which area produces Gold and

Silver only
(1) 10
2 11
3) 8
4) 6
Q.62 Which area produces all the four
minerals?
(1) 8
2 9
(3) 10

@) 1

Q.63 Which area produces Coal, Iron
and Gold but not Silver?

1 9

2) 5
3) 4
4) 2

Q.64 Which area produces Coal, Gold
and Silver but notlron?

(1) 6
(2) 9
(3) 10
(4) 11
Directions : (Q. 65 to 66)
Read the following directions:-
If + means minus
- means multiplied by
=+ means plus and
X means divided by, then.

Q.65 10x5+3-2+3=7
(1) 7
(2) S
@) 117,
@) 177,

.61 B9 9 &7 ¥ Bdd Q1 AR dic]
Irfed grdr 87
(1) 10
2) 11
(3) 8
4) 6
.62 39 839 ¥ IRI @S &1 ST
B 87
(1) 8
2) 9
(3) 10
4) 11
u.63 &9 &= 9 dgen, g 9 |
Scifed g & fbeg =il 7217
(1) 9
(2) 5
() 4
4) 2
.64 9 a3 4§ Pgen, @41 9 =il
Scqifed il & fobeg e 71817
(1) 6
2 9
(3) 10
4) 11
fAader (u. 65 A 66)

fA=ferfaa fRden @1 = A v —
e+ &13ed "er

- 13 TOm

+  PrafiwHia

x draRiyrE, @

7.65 10x5+3-2+3=7
(1) 7
2) 5
3) 117,
4) 177,




Q.66 (2-4x8)-0-5=7

(1)  -35
2) 30
3) 1
4) 0

Directions : (Q. 67 to 68)

In these Question, arrange the items in a
meaningful order.

Q.67 (1) Plant(2) Food (3) Seed (4) Leaf

(5) Flower
(1) 1,3,4,5,2
(2) 3,5,2,4,1
(3) 3,1,4,5,2
4) 5,4,3,2,1

Q.68 (1) Study (2) Books (3)
Examination (4) Student (5)
Result

(1) 4,2,3,1,5
(2) 4,2,1,3,5
(3) 2,1,4,3,5
4) 2,3,1,4,5

Q.69 Vijay is facing East. He turns in
Clock wise directing by 90° then
180° in the anti-clock wise
direction and then another 90° in
the same direction.

Which direction is he facing now?

(1) South-East
(2) West

(3) South

(4) South-East

19

9.66

(2-4x8)-0-5=72
(1) -35

(2) 30

Q) 1

4) 0

Ader (u. 67 1 68)
39 9%l #, "l P [iefe pH | AT |

9.67

9.68

9.69

(1) drerm (2) @re (3) 91 (4) gt
(5) me

(1) 1,3,4,5,2
(2) 3,5,2,4,1

(3) 3,1,4,5,2

(4) 5,4,3,2,1

(1) 1T (2) @ (3) Ten
(4) B3 (5) uRomH

(1) 4,2,3,1,5

(2) 4,2,1,3,5

(3) 2,1,4,3,5

(4) 2,3,1,4,5

fasra &1 g7 qd Y 3R ®1 98 90°
sfaongd (at @t g3 @t e ),
gadl €, S 91 180° I
(ot ot fawdia fen A) goan ®
IR 39S q1g It fem # 90 gHan
Bl I8 qarzd & o SHaT eV
fPafRmatairg?

1
g3y
3) &g
4) <fero—gd

(1)
(2)
3)
(4)



Q.70

Q.71

Q.72

Q.73

How many numbers are there
between 17 to 180 which are
divisible by 19 but not by 2 ?

M 2

2 4

@ 5

4 7

There are five houses ABCDE in
arow. Ais right side of C and
left side is E.

E is left side of B and

B is left side of D. Which house is
inthe middle?

(1) B
2 C
3 D
4) E
Chetna's age was square of a

number last year and it will be
Cube of anumber next year.

How Long must she wait before
her age is again the Cube of a
number ?

(1)
(2)
(3)
(4)
What is the smallest number of
ducks that could swim in the
formation -two ducks in front of a

duck, two ducks behind a duck,
and a duck between two ducks?

10years
38 years
40 years
63 years

Three
Four

(1)
(2)
3)
(4)

Five
Seven

9.70

9.71

9.72

9.73

179 180 & Ty fha-il =T O &
S 19 9 favrey & afds 2 9 =17

(1 2

(2) 4
) 5
“4) 7
ABCDE U9 =R U® ufdd § 81 A, C
B IUIAREAT I E,BD 91U &, B,
DP AU | B9 AT ER 928 § 27

mo O W

fUoa ara a1 ot Iy fasit wn
& T P IR1ER 2} 3R 3T AT a8
Uh & & 99 P SxE” BN
IAP! AY IaRT fA w=n & =54
P R @, S9P fow S fhaq
JHY 3R glen Bl BN

(1)
(2)

10 A1t
38 Tt
(3) 40 9T
(4) 633
fhat 9 &9 | FF 9@ |
WYE Y R Aol ',

g B M < Id
aﬁﬁiﬁtﬁ@ﬁac—d@
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Q.74

Q.75

Q.76

Sonu is taller than Rinku. Amit is
taller than Sonu. Subhash is taller
than Amit. Sattu is tallest of all. If
they stand according to their
height who will be exactly in the
middle ?

Sonu
Rinku
Amit
Subhash

(1)
(@)
3)
(4)

A Clock goes slow from mid
night by 5 minutes at the end of
the first hour, by 10 minutes at
the end of the second hour, by
15 minutes at the end of 3rd hour
and so on. What will be the time
by this clock after 6 hours ?

(1) 5.15am
(2) 5.30am
(3) 6.00 am

(4)

6.30 am

The figure above is a drawing of
Pile of Block. When taken apart,
how many blocks would be there?

250
435
509
512

(1)
(2)

.74 <A, Ry A own 71 eiffg, W A

.75

9.76

o R g, Siffd | e #)
Ax 999 =1 21 Ak 9 B B

ITAR @S B a1 7L | P9 8 ?
(1) &g

(2) Ry

(3) orfa

(4) gH™

TP TSl el va A, g 6 B
=1 H 5 fie, TR 9ve & = H
10 fAqe, "R v & I ¥ 15
fA9e 3R 0 yPR <ie Bkl e

21 I8 gar= & 6 Tue 91 =St |
1 11 BT?

5.15 am

(1)

IR & TE R Dl B IR B
Udh IREA gl ] AP 3T
I B A1 S @Y @ |
faraeit Brtt ?

(1) 250

(2) 435

(3) 509

(4) 512
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Directions : (Q. 77 to 78)

In each of the following series, one term
is wrong. Find out the wrong term from
the alternatives given below-

Q.77 16,25,36,49,64,81,94
(1) 9%

(2) 49

(3) 16

4) 25

1, 27, 125, 343, 829, 1331
(1 1

2 27

(3) 829

4) 1331

Directions : ( Q 79 to 90)

Q.78

A and B plays foot ball and hockey. C and
D play badmintion and Cricket. D and E
play Cricket and foot ball. E and A play
hockey and badmintion. B and C play
Cricket and hockey.

Q.79 One who plays maximum no of
games.
(1 A
2 C
@) D
4) E
Q.80 Onewho does not play football.
(1 A
(2) B
3 C
(4) D

Ader (w. 77 1 78)
Aeafofea den g@an 4 ta 9@ Toq
21 Tod 9@ B Ry v faweni § |
gfe?

9.77 16,25, 36,49,64, 81,94

1) 94
2) 49
3) 16
4) 25
1, 27, 125, 343, 829, 1331

(1)
(2)
(3) 829
(4) 1331
Ader (u. 79 | 90)
A q B |edld 3R 8 Werd €1 Ca D
Jsfive g fhde Wed €1 D 9 E fhae
3R qedld Wed €1 E 9 A gt 3R

Jsfued Wed €1 B 9 C fibae 3R gral
Qe B

U.79 9ail¥e Wl B Wordl &7

(1)
(2)
)
(4)

9.78

N —

7

1 A
2 ¢
@ D
4) E
U.80 Wedld BIF T8l Wer ?
1 A
2 B
3 ¢C
4) D
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Q.81

Q.82

Q.83

Q.84

Q.85

One who does not play
badmintion.

(1 A
(2) B
@ C
4) D

One who does not play Cricket.
(1 A

2) B
(3) C
4) D

One who does not play hockey .
(1 A

(2) B
@) C
4) D

What is the Correct mirror Image
of T?

(1 T
2
@) F
4 L

How many numbers among 1 to
10 are there that do not show
any Change in water image
shape?

(1 2
(2) 4
@) 3
4 7

23

9.81

9.82

9.83

9.84

9.85

Jsffieq #I9 T8 Waan ?

= T8 Wordr?

UOUJ)>§LDOWJ>

o 9 |l ufafas @ gm?

—
N
~

3)
(4)

1910 & fig W fbas 7R &
o arit / amfa A8t aeer?

=T o N =
N N
~ o &N



Q.86

Q.87

Q.88

No Change in shape in water
and in mirror that number is-

(1 1
(2 3
@ 7
4) 8

There are same in shape in
mirror and in water that articles
are these:

(1) UVHI
(2) HIOX
(3) CDIH
4) OAHX

If the given figure is folded to
form a box, which among the
boxes below will be formed?

9.86

9.87

9.88

fa TR 3t srpfa 9 SR g
A @A URAEH gl |

(1)
(2)
(3)
(4)

0 N W -

Ty 3R 9l # e wHH
IR T+t TEehl @ d 38R A B

gfe fau v oA &) 9T & wU |
ST 9T 1 S99 A= 94 9 I 491
dfeRT IR |

24



Q.89

Q.90

If the given figure is folded into a
Cube, which is the only Cube
that can be produced amongst
the following?

(o)
(o))
[e]e)

0o
©

(e)e]
(e)e]

©

9,

4
4

:
496

Two positions of a dice are
shown. Which number will
appear on the face opposite the
one having 5 ?

(1)

@ &

2
(@) 4
4) 6

25

9.89

9.90

afe = g srpfd B Tw uF |
e foar Sv a1 = A P4 e
T4 B ATHR Pl ave fe@rs 2m?

(o))
(o))
[e]e)

00
©

(e)e]
(e)e]

oy &
9 PE!

V4
4

T & 9™ I 91 Rafadi fewrs 12
2 DA 9= 5 9 Bold D
faasia 9 U= B | 87

BN

o A~AN



PART-Il (¥T1-11)
SCHOLASTIC APTITUDE TEST
IfyP audar ghieqor

Questions: 91 to 180

Q.91

Q.92

Physics

If AB represents the direction of
a ray of light incident on a
convex mirror and 1,2,3&4
represent the possible
directions for the reflected ray.
Mark the correct reflected ray.

Two similar plane mirrors P & Q
are kept parallel to each other &
a ray of light strikes P & suffers
repeated reflections 4 times on
P, before leaving this
combination, from the edge of
Q. The minimum length of mirror
Prequiredis

10 cm

40 cm

60 cm

(3) 80cm /

£D

100 cm

9.91

9.92

Physics
Ife AB, T I 4T TR Iafad
garel fhvor &) e &1 uefRia &
q 1,2,3 9 4 GREfdd fdRor ot
Jafad feensti & yef¥fa &R o
T wRrafcdd fbwor B g R |

2 Th FHM AHA 4T P 911 Q
Th R B AR T & Th
grer fbvor, gdor P 9§

IR IR WRERfT kit g 91 Q B
RR 9 9 9AoH Bl BIlsHR
Rea o 81 U P &t <gAeW
AP TS BIN-

40 cm

10 cm

60 cm

80 cm

/ {
100 cm
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Q.93

Q.94

Q.95

When a red light is used instead
of blue light, the focal length of a
convex lens will

(1) Increase

(2) Decrease

(3) Remain same

(4) Doesn't depend on colour

A body projected vertically
upwards, comes back to earth
after some time, the graph
which correctly represent this
motion—

u uff
t

(2)

(4)

Two light spring balances are
connected in series. The upper
end of first spring balance is at
fixed support & lower end of
second spring balance is
attached to a mass of M kg. The
system now hangs vertically.
Which of these statements, is
correct.

(1)
(2)
3)

Both scales will read M/2 kg
Both scales willread M kg

Both scales will read different
butthere sumis M kg

Lower scale will read M &
upper will read zero

(4)

9.93

9.94

9.95

Ife T IO o9 | 1A UbI9 b
WM W Al IS 9gad & a

SHD! B -

(1) ¥ Srg
(2) ®e SITg
(3) A &
(4) 31 R R T8 R

IAieR FUR Bl AR yAfud vp
I ATS! X 1 A gt R 3
ST 2 | 39 79 1 e R drell
el UTh &

(1)

t

(3)

<1 R gemeti &1 Sof 39 | SirsT

TR § | gECH gl B Hu) RR Bl

Tdh ¢ AMUR A oM ga Joll &

Aaa RR @1 ' M o o &

SHE | SIS ™I ' | 3949 | B

A1 B AE BRI

(1) A YHET BT uredid M/2
oo ®

(2) TF YHE @1 ugHEEd M
oo &

(3) i YHHEl @1 ugdid e

8RN WIfh SH®BT ART M

fhowmo BT

el U9 T U1gaTd M der

SURI YA HTATGITD A

(4)
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Q.96

Q.97

Q.98

If the minimum and maximum
heights of a child, above
ground, while swinging, are 1m
& 6m respectively, the maximum
speed of child will be -

6 m/s

2430 m/s
245 m/s

10 m/s

(1)
(2)
)
(4)

An electric fan is switched 'ON’
in a closed room. The air in the
room-

(1) is cooled

(2) is heated

(3) maintain its temperature
(4) is heated or cooled

depending upon the
atmospheric pressure

A solid of density D has weight
W.Ifitis completely immersedin
a liquid of density d, then the
apparent weight of the solid is -

(1)
(2)
3)
(4)

W (1-d/D)
W(1-D/d)
W(1+d/D)

W(1+D/d)

9.96

9.97

9.98

[T [ §U U 9= @l SR A
<A 9 IAfAHTH HaATS HAL: 1
#. @ 6 #1. 3 A1 =3 B SAfSHan
a1t grft-

6m/s

230 m/s
245 m/s
10 m/s

U 9 HR U o fdgd 9@ &l
Il a1 T | AR B 74T

1) TUSI BT I
T B ST

I aTgHT ReR g™

(1)
(2)
(3)
(4) @ 3UST  BIAI

AGHATSHII &9 UR R el
=l

Tcd 'D' P T I Bl YR 'W' B |
afe 59 O9@ 'd' & 99 4 g g4
faar <ImT 9 31 &1 STURT YR -

(1) W (1-d/D)
W(1-D/d)
W(1+d/D)

W(1+D/d)
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Q.99

Q.100

Which one of the following is the
best set up for tracing the path
of a ray through a rectangular

glass-slab.

(1) (2)

©) (4)

Three electric bulbs A,B & C are
connected as shown in figure.
What changes occur in
brightness of the bulbs when
the switch is closed?

)

Brightness of A increases,
but that of C decreases.

Brightness of A remains
same, but of C decreases.

Brightness of both A& C
decreases

Brightness of A increases
but that of C remains the
same

9.99

9.100

TTH 9 B9 A GAloiH Udh

SIATPR Bid B RSB I
YhT9I-fhvu] & 3IRW BT I T
N

3) (4)

WA fag@ 99 AB 9 C REgaR
g3 21 afk Raa aia fan wmg

A gedl bl THD W FgT gRad+
BI?

AP THE gl & fbeg C Bl
gl B |

A®D! TFE T8 &l 8 fbg C
@1 Fe B |

A TAT C SFI Pl IHG gl

2|

A B TS 9l § fbwg C Bl
TEN & © |
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Q.101

Q.102

Q.103

When a metal-sphere is heated,
the largest percentage increase
will occurinits-

(1) Diameter

(2) Area
(3) Volume
(4) Density

Choose the correct alternative-

i. Sound travels faster on a hot
summer day than on cold
winter day.

ii. Like sound, light can't
propagate in vaccum.

iii.  Sound travels faster in solids
thanin gases.

iv.. ~Speed of sound is not
affected by changes in
atmospheric pressure.

(1) 1&2areTrue but3 &4 are
False

(2) 2isFalse, 1,3 &4 are True

(3) 1 &4 areFalse, 2 & 3 are
True

(4) 2 &4 are False, 1 & 3 are
True

Reduction process involves
(1) Lossofelectrons

(2)

(3) Removal of hydrogen
(4)

Gain of electrons

Addition of Oxygen

U.101 9 91g & M Bl T & Sren g
@ waifde gfdea gfg @< &,
-
(1) = ¥
(2) &F%Hd H
(3) MIAT H
(4) °9d H

1.102 ¥ A% g+ (a,b,c & d)

i. OISl @ avs faAl @ et
T & T AT § ey @
T g B § |

i. eaf @ Wifa gerer fAara |
FART A8l BR Fhd |

i. eaf B =TT S H, gdl Bl
3T NI BT 8 |

iv. eI @ A,

%qﬁ?n%‘ragﬁﬁqmﬁﬁﬂﬁr
Bl |

1) 1329 8 dfed 394
I B |

(2) 23T B AfhT 1,3 T4 I
=

(B) 1 T4 3T 8 Afb1 2 9 3
T8 |

(4) 29439 & dfbd 133
TR |

9. 103 3= fiban § gan @
(1) ZelFgI=l B FIT

(2) ST DI YT BRI

(3) BIgsISIT dI ECTI

(4) SITRITSTE BT I
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Q.104

Q.105

Q.106

Q.107

Q.108

Q.109

Reaction C+O,—» CO, is an
example of

(1) Combination Reaction
(2)
(3) Decomposition Reaction
(4)

Neutralization Reaction

Displacement Reaction

Number of electrons, protons
and neutrons in an atom of
chlorine ,,CI* is

(1) 18,18,17
(2) 17,18,17

(3) 17,17,18

(4) 18,17,18

Which out of the following has
the maximum weight?

(1) OneMoleH,

(2) OneMole NH,

(3) OneMoleCO,

(4) OneMoleH,O

Which of the following is not a
compound?

(1) PlasterofParis

(2) Common Salt

(3) Sugar

(4) Diamond

Which gas is produced from

incomplete combustion of fuels
like diesel and petrol?

(1) CO,
(2) cCoO
(3) NO,
(4) SO,
Which out of the following is not

. 104 3rfafssan C+O0,—» CO, =T & &

e SeEv &

(1) FareE ifafsa

(2) SETEFTGRO i
(3) 3rgueH i

(4) Ta=ery= srffdsan

105 TR, CI®° & TP U=ATY H

SolagE, WieF a1 ggE 3t
=T B

(1) 18,18,17

(2) 17,18,17

(3) 17,17,18

(4) 18,17,18

. 106 =1 9 A fbaeT R sifddaH 27

1
2
3
4

TP Ao H,
U Ael NH,
& Al CO,

)
)
)
) T& A H,0

(
(
(
(

. 107 fA=forffaa 9 @ &9 a1 e =18

(4) BT

. 108 ST 9 Ui & (YUl T84 A PIA

A T Ia= A 2?
(1) CO,

(2) CO
(3) NO,
(4) SO,




Q.110

Q.11

Q.112

Q.113

Q114

anorganic acid
(1) Citricacid
(2) Lacticacid
(3) Tartaricacid
(4) Nitricacid

The compound in which most of
metals occurin nature are

(1) oxide
(2) sulphide
(3) sillicate
(4) nitrate

A + HNO, —» NH,NO, + H,0
What is A in above chemical
reaction

(1) NH,

(2) NH,NO,
(3) NH,OH
(4) (NH,),SO,

Which element shows allotropy
in gaseous state

(1) Carbon
(2) Sulphur
(3) Tin

(4) Oxygen

Which compound of carbon is
used as arefrigerant?

(1) CH,

(2) CO

(3) CO,

(4) GCH,

Disease caused by the infection

9. 109 =1 9§ 9§ PI9 91 Brefed 3 g

87
(1) fafed arat
(2)
(3) <TIER® ar
(4)

9. 110 ggfa 4§ 3ifdere arge fow difie

P w9 H TS Wl @

(4) Ege

9.111 A + HNO, —» NH,NO, + H,0

SWRIF ITEAfAe AfAfhar § A
Gk

(1) NH,

(2)

(3) NH,OH
(4)

Y. 112 D19 91 dcd g sraven §

JREYl fe@mn ?
(1) P
(2) ¥HY
(3) fe=
(4) SfeRATST

Y. 113 Hrd9 Bl HIF-491 AIe g3ias

@ ©9 ° AT fhar S 2
(1)
(2)
(3) CO,
(4)




Q.115

Q.116

Q.117

Q.118

Q.119

of dog and monkey's saliva
(1) Cholera

(2) TB.

(3) AIDS

(4) Rabbies

Cactus is akind of plant

(1)  Fruit

(2) Ornamental
(3) Vegetable
(4) Flower

Cuscutais a

(1) Saprophyte

(2) Partial Parasite
(3) Autotroph

(4) Fully Parasite

Maltase digest

(1) Protein

(2) Fat

(3) Nucleic Acids
(4) Carbohydrate

A bird that migrates to India
during winter is

(1)
(2)
(3)
(4)

Red blood corpuscles lacks

Common Crow
Indian Sparrow
Dodo

Siberian Crane

33

9.114

9.115

9.116

9.117
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Q.120

Q.121

1 Mitochondria

3
4

(1)

(2) Nucleus
(3) Golgi bodies
(4)

All of Above

Which bacteria is responsible
for food poisoning

(1) Salmonella

(2) E.Coli
(3) Rhizobium
(4) All of Above

Ascorbic acid is the name of
Vitamin

(1 A
(2) B
@) C
(4) E

Q.122 Reproduction in Bryophyllum

Q.123

occurs through

(1) Bulb

(2) Stem

(3) Root

(4) Leaf

Which of the following

organism have characters of
both animal & plant cell.

(1) Amoeba

(2) Paramecium
(3) Uglena

(4) Entamoeba

Q. 124 Which of the following process

9.119

9.120

9.121

9.122

9.123

STl X oIl | =81 81 &
(1) wEerdifgan

(2) d=d

(3) TeSiIhTY
(4) SURTE G

B A1 IR Wre fAvradar &
fore forieR 87

fAefafaad A fPasiad uieu g
] PIR® SHI & U1 - S
g7

1) IHET

2) WwIfaRrm
3) A
)

(
(
(
(4) TIMHIE!



shown by this diagram?

(1) Cellx

(2) Embryo formation
(3) Ovulation

(4) Fertilization

Q.125 A tadpole develops into an adult

Q.126

frog by the process of
(1) Fertilization

(2) Metamorphosis
(3) Embedding

(4) Budding

The given data are in the form of
Assending order. If their Median
is 63 then find the value of x.

15,18, 25, 50, x, x+2, 80, 84, 90,94
(1) 60
2) 61
(3) 62
(4) 63

Q.127 A Right Angle Triangle has their

side 5cm, 12cm and 13 cm is
revolved around the side12 cm
and 5 cm respectively. In both

position, the ratio of their
volumes of a cone will be what
(1) 14

(2) 5:3

(3) 512

(4) 5:13

9.124

9.125

9.126

9.127

g o A= 9 9 o= <t ufshan o
CHIG

s
DD

N

HIfMhT fAYToT
g1 &1 1o
JUS BT I

gIHAT

esula fda ufshar g1 ded d
fapRa a2

(1) ==

(2) HCHR®BIRN

(3) IMHISKT

(4) TSI

3y v s AR HH H § 1 AR
IPT AP 63 B Y x BT A S
P |

15,18, 25, 50, x, x+2, 80, 84, 90, 94
(1) 60

2) 61
(3) 62
(4) 63

1
2
3

(
(
(
(4

)
)
)
)

Yoti3li 5cm, 12cm, 13 cm el T&
|qHPIv Y PI ggel 12 cm fR
5cm & Yol & URa: gART ST
gl 39 R I Rufadi § ura
AH3IT B Al DI JJU T
BM?

(1) 1:4

(2) 5:3

(3) 5:12

(4) 5:13
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Q.128 The diameter of a sphere is

Q.129

Q.130

Q.131

reduce 25%. Then how many
percentage of this curved
surface area will be reduced ?

(1) 40.75%
(2) 41.75%
(3) 42.75%
(4) 43.75%
The ratio of sides of a Triangle is
12:17:25 and their perimeter is

540 cm. What is the length of a
shortest side of a Triangle ?

(1) 110cm
(2) 120cm
(3) 125cm
(4) 100cm

In a Triangle BC = 8 cm, /B=45°
and difference of two another
sidesis 3.5cmthen

(1) AB>AC

(2) AC>AB

(3) BothPossible

(4) AB=AC

The three points A, B and C are
situated on the circumference of
a circle whose radius is 5 cm
then the distance between A and
B orBandCis 6 cmeach. Then

find the value in between A and
Cc?

(1)
(2)
©)
(4)

3.8cm
4.8cm
7.6cm
9.8cm

Y. 128 TP Ml DI AT 25% PH BN a1

9.129

9.130

9.131

SR A ST 9% YO 8%
a1 ufera &9 8 smgm?

(1) 40.75%

(2) 41.75%

(3) 42.75%

(4) 43.75%

feft By @t yomsii @1 U
12:17:25 T I9P1 IR¥T9 540 [+
2| 9 By o 9e9 Bt gon 3
SIS I e ?

(1) 10cm
(2) 120cm
(3) 125cm
(4) 100cm

T 3y« & BC = 8 cm, /B= 45°
3R 3717 1 YoTI3ii &1 <R 3.5¢cm
g, 79

(1) AB>AC

(2) AC>AB

(3) TFI Ava

(4) AB=AC

U d@Eier B aa ga @t
9RfY o= <= fag5 A, B3R C 59
uHR g f5 A 3R B @211 B 3R C

HUAG R 6 AN gAMANRC
@ 99 @ T 71 Eeh ?

(1
(2
3
4

3.8cm
4.8cm
7.6cm

)
)
)
) 9.8cm
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Q.132

Q.133

Q.134

Q.135

ABCDE is a Pentagon. The
Bisector of angle BAE intersect
CD at M and Bisector of angle
BCD intersect AM at P then what
is the angle of CPM ?

(1) 27°
(2) b54°
(3) 108°
(4) 60°
If x*-3x+2 is a factor of

polynomial x*- ax*+b then what is
the valueofaandb

(1) 5,4
2) 3.4
3) 35
4) 2,1

Factorize.

If x=7+4J3 then findthe

value of x*+ 12
X

(1) 195
2) 192
(3) 194
(4) 193

9.132

9.133

9.134

9.135

ABCDE U& WHUAYS Tl PIUI
BAE &1 9Hf29T5id CD &1 M WR
dledl g IR P BCD HI
JAHfg9ISies AM Bl P UR dicdl ©
Tl BIvT CPM &1 217N?

(1) 27°

(2) 54°

(3)

(4)

afe x*-3x+2 TgUS x'- ax’+b B
YOS & Al a 3R b 1 A4 a4
B?

(1) 54

(2) 3,4
(3) 3,5
4) 2,1

o|T o|= T|l- o|T

e x=7+4{3 A+ 12?5[
X

14 =1 2n?

(1) 195

(2) 192

(3) 194

(4) 193
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Q.136 Write down in the lowest form of

Rational Number.
xX-1 _ X-4x-5
X - 25 X'+ 4x-5

(x- 1)
(x +5)°

(2) (x+1

(1)

2

X+5
x-1
X-95
x-1

(3) (

(4) (

x+5

Q.137 A cone has height 24 cm and

Q.138

Q.139

radius of base is 6 cm. Recast in
the form of sphere. Find the
radius of sphere.

(1) 2cm
(2) 4cm
(3) 6cm
(4) 8cm

Age 15 20

(In Years)

Students |3 |8
Numbers

10

Find Mean Age.
(1) 17.45
(2) 15.35
(3) 1245
(4) 10.35

The Point (-3, 2) and (1, -2) what
is the mid point?

(1) (0,-2)
(2) (-1,0)
3) (0,0

(4) (-2-4)

7.136 X -1

. X -4x-5
x-25 X' +4x-5
P a9 vl & aRAy TJod B
w9 ¥ feran |

9. 137 TP ¥q O ST 24 cm 3R YR

9.138

9.139

@1 3591 6 cm 1 SHH YA: Th
Mot & HY H 954 TR el Bt
Broan Fan erft |

(1) 2cm

4 cm

(2)
(3)
(4)

15 17(18/19| 20

10/10|5 |4

H1e 1Y 1 BRI |
(1) 17.45
(2) 15.35
(3) 1245
(4) 10.35

fa=g (-3,2) 3R (1, -2) &1 7187 fag
1 B?
(1) (0,-2)
(2) (-1,0)
(3) (0,0)
(4) (-2,-4)
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Q.140

Q.141

Q.142

Q.143

Find the number of diagonal of a
Nonagoan.

(1) 12
2) 15
3) 17
4) 27

A's Income is 60% more than
that of B. By what percent is B's
income less thanA's?

(1) 62.5%
2) 37.5%
(3) 160%
(4) 100%

If the cost price of 10 mangoes
equal to the selling price of 8
mangoes, find the gain of loss
percent.

(1) 10% gain
(2) 15% loss
(3) 20% loss
(4) 25% gain

If 5men or 7 women can earn Rs.
875 per day. How much would 10
men and 5 women earn per day.

(1) 2175
(2) 2275
(3) 2375
(4) 2475

9. 140 GHIYS & fdeuil @ dwn @

9.141

9.142

9.143

it

(1
(2
(3
(

12
15
17

27

)
)
)
4)

A @} MHS B # e | 60
ufaerd 3ifd®w 8 d A Bt e |
B & fham ufdera &9 27

(1) 62.5%

(2) 37.5%

(3) 160%

4) 100%

8 31 &1 fasha [T 10 M B HA
I & RO T M A g
gfcrera | aasii |

gfe 5 et a1 7 3fRG 875 .
yfafeq saa € a1 10 e 3R 5
AR fAawe ufafes fda

HATTA?

(1) 2175
(2) 2275
(3) 2375
(4) 2475
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Q.144

Q.145

Q.146

Q.147

ABCD is a Parallelogram. AO
and BO are the bisector of LA
and LB respectively. Find LAOB.

(1) 90° D c
(2) 60° )

(3) 50°

@) 450 " °

The Parallel sides of a
Trapezium are 25 cm and 13 cm
and its non parallel sides are
equal each being 10 cm. Find the
area of Trapezium.

(1) 142 cm’
(2) 152 cm’
(3) 162 cm’
(4) 172 cm’

In which following year Battle
of Plassey fought

1757

Between 1740 to 1761 how many
times Ahmad Shah Abdali
invaded India.

(1) FourTimes
(2) FiveTimes
(3) SixTimes
(4) SevenTimes

9.144

9.145

9.146

9.147

ABCD U& ¥R agqs &1 AO
3R BO HH9I: Il A 3R BIvT B
P FHZUTSIP & < BIoT AOB &I
| qis | D c

1
2
3

90°
60°
50°

4

(
(
(
(4) 45°

)
)
)
)
TH T d FARR Yolig 25
AW R 13 [ T SR sl

IRTIR YWY T 3R IS 10
A 2 91 A9 BT AABA g1 |

1) 142 T3 I

3

(1)
(2)
(3)
(4)

152 a1 A9
162 a¥1 I
172 91 I

fAforfaa fda ad 4 <R &1
Jg oS 1T?

(1)
(2)
3)
(4)

1757
1764
1777
1790

1740 |9 1761 & &9 3E9S e
IF<Tell 4 YRd R fhal IR
3mshHYT fhar?

(1)
(2)
3)
(4)

IR IR
IEKCIN
BE IR

A dR
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Q.148

Q.149

Q.150

Q.151

What does Peshwa Post stand
for -

(1) Advisor

(2) President

(3) Chief Minister
(4) Prime Minister

Who founded the state of
Hyderabadin 1724

(1) HyderAli

(2) Tipu Sultan

(3) Alivardi Khan

(4) Nizam-ul Mulk Asaf Jahi

British East India Company
established their first factory at
which of the following place-

(1) Surat
(2) Bombay
(3) Madras
(4) Poona

The Treaty of Allahabad was
signed between-

(1) Robert Clive, Shuja-ud-
Daulah and Shah Alam

French, Shuja-ud-Daulah
and Shah Alam

Marathas, Shuja-ud-Daulah
and Shah Alam

Sikh, Shuja-ud-Daulah and
Shah Alam

9.148

9.149

9.150

9.151

eran ug 4 | 9 feaas forg &=

A= 9 | P9 = ) fafew s
sfear FU- 3 U1 gl hacd
ITfaa 17

(1) [

(2) =3

(3)

(4)

4) I

gTREE B |f = | | fhaa

L g7

(1) YTaC TS, ORI, Al 3R
31TE MM

(2) HIART, YIS, Srefl 31 oM
3T

(3) ¥RIST (ARS) YGIRATS, arall 3R
NIRIR|

(4) THaE, gowRs, aldl iR s
31T
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Q.152

Q.153

Q.154

Q.155

Q.156

Who was from the following the

brother of Madhav Rao-
(1) Bheem Rao
2) Govind Rao

(2)
(3) Sada Shiv Rao

(4) Narayan Rao

Who is considered the Father of
Modern Education

(1)  William Wilber force

(2) Lord Macaulay
(3) Charles Grant
(4) Charles Wood

Who banned the human
sacrificeinIndia ?

(1)
(2)
)
(4)

Awadh was annexed into British
India on the Pretext of-

(1)

Lord Harding
Lord Wellesley
Lord Bentink
Lord Dalhousie

Riots of Hindu Muslim

British were against the
Nawab

Due to Misrule

(4) Noneofthese

Mangal Pandey belongs to
which regiment-

(1) Meerut

(2) Kanpur

(3) Delhi

(4)

4) Barrack Pur

9.152

9.153

9.154

9.155

9.156

?ﬁﬁﬁmuamaﬂﬂﬁaﬁa
?

(1) 9H g

(2) Mfa< <@

(3) <1 f¥ra <@

(4) RTIOXTG

Iy e &1 99’ = 9 @
I 8?

(1) fafera® o wrd

(2) oS HaTel

(3) TTed UTe

(4) e g

Aqa (R) afa A= 94 9 fm
TP ?

(1) oS gIfeT

(2) TS deotall

(3) s dfead

(4) TS SBINl

Iy )l Ao g d A= a4 9
fra o1 9 Ao w&n?

(1) R—gRe™ TRl & RO
(2) U a9 & faog &

(3) IS ITAA 7 B & BRI
(4) T W BIS TE
NERICRE e S B G R A
?

H
g
(1)
(2)
3)
(4)

RS

PR
feeel

RBHYR




. 157

Q.158

Q.159

Q.160

Q.161

In which year Indian National
Congress was founded?

(1) 1882
(2) 1884
(3) 1885
(4) 1890

Who is known as the Father of
Indian Constitution?

(1) Pt.JawaharLal Nehru

(2) Dr.BhimraoAmbedkar
(3) Dr.RajendraPrasad
(4) BabuJagjivan Ram

How many tier of government
provide in Indian Constitution ?

(1 2
2) 3
(3) 4
4) 5
Which is the Article of
Constitution states

untouchability has been
abolished?

(1) Article 16
(2) Article 18
(3) Article 28
(4) Article 17

If a 13-year old child is working
in afactory, whatis it called?

(1) Child Labour
(2) Factory Worker
(3) Baildar

(4) Allofthese

9.157

9.158

9.159

9.160

9.161

YR IS B @1 AT
A= ddfeaaddgs?

(1) 1882

(2) 1884

(3) 1885

(4) 1890

YR AfAe™ &1 996 {3 B
ST 87

(1) UfvSd STaTER dld 18

(2) Sfo HIHRTG SFISH

(3) o IoT= YA

(4) 9T TSI |

YR 9y 9 fbam
IIRI aRAT BT YraeT= b 872
(1) 2

(2) 3

(3) 4

4) 5

IR dfay™ & &4 g=se ©
dEd QIEd B WA HR e
I R?

(1) 3TJ=o< 16

(2) STIB< 18

(3) STJevs 28

(4) STI=BT 17

Ife 13 A1t b1 goa1 Do § B
PR Y81 8, 1 SQ HT gl SIIem?
(1) 97T HoIgR

(2) HIT AR

(3) delER

(4) SURTIT A4l
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Q.162

Q.163

Q.164

Q.165

Q.166

Where is the present building of
Supreme Court?

(1) OnMathuraRoad

(2) OnG.T.Karnal Road
(3) OnJaipurDelhi Road
(4)

4) RamTulaRam Marg

Who did give order to fire in
Jallianwala Bagh on innocent
people who continued protest
calmly?

(1) Dr. Satya Pal

(2) Dr. Saffudin Kichlew
(3) Lord Cornwalis

(4) General Dyer

Who is Chairman of Rajya
Sabha?

(1) Prime Minister of India

(2) Presidentofindia

(3) Vice Presidentof India

(4) Speaker

Which of the following are
Fundamental Rights?

(1) Rightto Equality

(2) Rightto Freedom

(3) Right against Exploitation
(4) All of these

Who decides whether a person
is guilty or not?

(1) Advocate ofthe accused

(2) Public Prosecutor
(3) Judge

(4) Police

9.162

9.163

9.164

9.165

9.166

I wdiead R dEl W)
fRera 27

(1) HYRTIS W

(2) STodlo HRAT IS TR

(3) SR facell I8 W)

(4) TH AT I AR
Sferdiaren a1 | wnfxagd® fagie

P T2 ol R fHaa el T
o1 39T fear?

(1) Sfo HgUTA

(2) o AR fbere
(3) TS HMaTfer™d
(4) SRS SRR

IS GHT BT L& B 2l &7
1) YRT BT GITHA
2) YRd B Ul

3) WRd HI SURTTT
4) IHR

(1)
(2)
)
(4)

A=fafaa & 9 o4 ¥ HAifos
AfPR 8?2

(1) AT BT 3MTBR

(2) AT BT DR

(3) WYY & fIwg IMfAFR

(4) SURIE a4

up afdd Rl ® ar SE, dE
fAf¥era owan 2?

(1) <19 U&l Bl gdiel

(2) PRI qhie

(3) =TT

(4) gfers

~— ~— ~—




Q.167

Q.168

Q.169

Q.170

Q.171

Which Political Party make its
agendabased on Hinduism?

(1) Bhartiya Janta Party
(2)
(3) Indian National Congress
(4) Akali Dal

Bahujan Samaj Party

Which is an organisation that
arranges toilet facilities in the
city and towns.

(1) BharatVikas Parishad
(2) Sulabh

(3) Mohalla Sudhar Samiti
(4)

4) Gram Panchayat

The person elected by the
people are called of the
people.

(1) Chairman

(2) Speaker

(3) Prime Minister
(4)

4) Representatives

Which is the main vegetation of
our India?

(1) Deciduous Forest

(2) Evergreen Forest
(3) Sawana Grassland
(4) Mediterranean forest

When was Nhava Sheva Port
services setup ?

(1) May 1966
(2) May 1989
(3) May 1947
(4) May 1982

9.167

9.168

9.169

9.170

9.171

fra woAifae ardt &1 PrisH
fe=g faarurt w= snenfRa 87

(1) HRAI ST aret
(2) g |HIS Ul

(3) YR I B

(4)

P9-W wRenm vl 9wl H
virarera JRaen &1 yay e 82
(1) AR [dhr gRkug

el &

ERESKR]
NEERNCE]
AT T BT HEH
ARG 97

FEATGT 5] e hd Jafud faan
Y

(1) ¥S 1966

(2) #HS 1989
(3) S 1947
(4) #AS 1982




Q.172

Q.173

Q.174

On which river coast is
Jamshedpur situated?

(1) Mahanadi

(2) Godavari

(3) Ganga

(4) Savarnrekha

Which is the oldest fold
mountains of India?

(1) Satpura

(2) Aravalli

(3) Vindhya

(4) Maikal

Match the following states with
the national parks

National Park State

(1) Kajiranga Assam

(2) Jimcorbett Uttar Pradesh

(3) Madhav Madya Pradesh

(4) Bandipur Karnataka
Q.175 Where is Copper Plant located in

India?

(1) Naveli

(2) Kudera Muka

(3) Udaipur

(4) Malaj Khand

Q.176

Which place is not located on
the eastern seacoast of India?

(1) Paradweep

(2) Vishakhapatnam
(3) Cochin

(4) Chennai

9.172

9.173

9.174

9.175

9.176

SRITYR fahdl 1} e 9R a1 37
ORREEE

(2) TETERT

(3)

(4) iR

WRA | 99 YR aferd geeHre
P9 o 27

(1) sagst

(2) IR

(3) favearaa

(4) HpTe
fA=fafaa WAl @ S99 I
IaEl & A1 A S |
RIS S R 5

(1) BRI 3H

2) R Prde SR U
(3) HEg g U el
(4) IR PCH
YR § BIUR e Hal ReUd 87
(1) =Tdeft

(2) =Y

(3) SIIR

(4) HAoTES

=1 4 9 o @ oFR YR & At
Hqg e R e 8 87

(1) W1

(2) foemamasTq

(3) P

(4) ==
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Q.177 On the map shown below which

Q.178

Q. 179

Q.180

shows the best according to the

given crop/soil/oilseeds below:
O ks |

Black Soil Area

(1)

(2) Cotton Production Area

(3) Groundnut Production Area
(4) Jawar Production Area

Which crop is known as 'the
crop ofthe poor man'?

(1) Maize
(2)
(3)
(4)

Match the following to find the
correct answer

Rice
Sorghum (Jawar)
Bengal Gram

(1) Town of Kurukshetra
Weavers

(2) Mini Khajiar
Switzerland (Himmachal
of India Pradesh)

(3) The Heartof Panipat
Rajasthan

(4) Theareaof  Ajmer
‘Dharam’

Which is the highest peak of
Eastern Ghats?

(1) Pachmarhi
(2) Mahendragiri
(3) Doddabetta
(4) Anamudi

9177

9.178

9.179

9.180

A @ BRIfed &3 A=ferfaa
4 9 fHA 9L} Ube B 27
3 |

1

)
)

(

(2

(3) el IUGH &5

(4) R IUCH &

TR TEH B HEA D H/Y H AL

S aTell B BIF-31 872

(1) ¥aPbT

(2) drdd

(3) IREH (WR)

(4) MRl T

& He b1 fAeam

(1) FIHRI B oA
R

(2) YRA &1 71 WRSER
Racores (GRIEE!

L))

(3) IO &1 UFIud
=50

(4) H BT e JTSTHR

gdl Tre #1 Haffde S RER 2-

(1) TaHd

(2) He=RRNI

(3) <IeMel

(4) S
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Rough Work
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